Grade 9 Academic Math Diagnostic Test
Question1: NO CALCULATORS ALLOWED

You will receive questions 2 to 14 once you hand in this sheet.
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1. Evaluate each expression without using a calculator. You do not need to show your work. ([ 5715)
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Part One — Integers | g9 /29 4l
1. This question is given on a separate sheet. ( lg/15) Total: 91
2. Evaluate each expression. You must show your work. ( / ‘f'/14)
(a) ~5-2(3-13) 2 | () 8(4)-21+27+(-3)] 5
:—5_a(-[0)/ > =-3R X[ 1+(- C\Tl '/ >
= ~5 - (-a0) = -32-2(-3) —
= -5 +tR0 =-32~ ") _—
5 = —Z32-1R
= —[p0
() —21-24+(-4)-5(-2) Z | @) ‘(14‘(;?+9)+)2 Y
4-9)(-4-1 -
=2l = () = (=10) v~ A 4
_ ~ 14 - 22~
> T
-5 /

—

I8 /18

Part Two — Rational Numbers

3. Evaluate each expression. You must show your work. ( [ /11)
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4. This question deals with number sense. ( 7 /7) B Bf’/
(a) Place each of the given numbers on the number line. 26
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Part Three — Algebra < /8
5. Substitute and evaluate. ( %/3) 6. Solve the following equation. ( / /1)
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7. Write an algebraic expression that means “the 8. Translate the algebraic expression 15—y into
quotient of a number and 10.” ( &./2) words. (22/2)
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Part Four — Geometry and Measurement % / 28

9. Determine the value of ¢ that would make the given triangle a right

triangle. ( 4 /4)
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10. Calculate the perimeter and area of the given shape. ( = /5) 6m
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11. Calculate the surface area and volume of the given hemlsphere T

(i.e. “half sphere™). (7 /7) 5"/\7" "~
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12. Find the measures of each angle labelled with a letter. In each case, state your reasoning. ([2./12)
Measure of Angle | Reasoning (State Why)
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Part Five — Problem Solving 8 /8

13. Gulam was so proud of his report card that he decided to frame it and hang it on his bedroom wall. Once he
framed it, Gulam realized that his report card would be too hard to read from a distance. After giving some
thought to his problem, he decided to get the report card enlarged to four times its original area. If the
original report card measured 21.6 cm by 28 cm, what are the dimensions of the enlarged report card?
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14. In kite ABCD, angle B is at the top of the kite and measures 80° degrees. Angles A and C are on the sides
and angle D is at the bottom of the kite. What is the largest possible measure of angle A or C? (&£ /4)

Since AABC s soscelées and AADC is isosceles, /_\\
; S /30°
LBAD =£BCA and £ DAC=LDCA J X
A M r y o~ A = </ L 7 ,,--’; ? Ciainm 1) / I/' ) 4 ¥ Yri N { = ’ F-
7{.’.@-;',. LOAD=LBCA =50 sth@ T = s i "\ ‘?‘
anglés c - a triangle mus f &€ (g0 | \/

Now % Ty ,'L ahls \/ e u/ ‘J
) b e e v
/ e G 1 ]

L Dty =180

# a b ) S £ ‘4 and L (. can naye any peasure
& 7 Y e I :L' X ’L i & J ik P G D - kel « O
' grepre’” tnan S(0° pur LEsS than 19

Another Approachn- y
Zmag'me "/yu[l\'y\\?“ t‘/@ /gleQl_D olown the 7943 c.

This weuld make. (e saments AD ond C] longer
£CAD e LACD la@@f‘fr u/fl;[e L ADC W‘NH 3(’/'t‘ J g
Smallers There 1S o Yliwik 4o how —fur Point”])

Can be pulled cown BUT +are Js et [/mit To how

lome ZCAD qwl £ ACH can be Charly the moasuses
07‘3@{:/-&%2 Wgﬁl:; Cam éng ?(ose, t9 Qpbas we like buf-

can neithey equo( ner exceed 40°.

® B = =



